VINGTOR  STENTOFON

VSS-V2 Sound Reception System
Assembly manual for replacement of microphones
For Microphone unit version from rev. 2.07

Wind Shield

Microphone Unit

Amplifier and Connection box

Support/Fastening plate

Complete Microphone Unit VSS-MU v2.08
ltem.no.1021002100

Microphone Sparepart kit Iltem.no. 1021002002 consist of:

Item name Qty Item Description
VSS Mic 4 Microphone set with cable, mic. mesh and epoxy
VSS Mic PCB 1 Microphone PCB
Sealing 1 Top lid sealing gasket
1

Manual Assembly guide for replacement of microphones



Tool requirements

—

2x Wrench with 24.mm opening Screwdriver, star for M6x30 Unbraco 3 and 4 mm

VSS MIC Mounting

LOCTITE 415 GLUE EDGE Westsystem 105/205 epoxy
[——-VSS MI%HOUSING J MARKER 1-4

J art Of/PG7f!bber gasket J
W e e

Tuftane TFL-2EA
AIRMIC.

3 O-RING PG16
VSS-MIC-MESH 20MM Assembled view of rubber gasket and filter
\/ : 4X VSS-MIC (Part of VSS-SPK-207. 1021002002)

g g g g g M5X12 PH A4 UMB BN8699

M5 WASHER A4 BN 671

VSS-MIC-TOWER-SEAL
(Part of VSS-SPK-207. 1021002002)

3 I CABLE GLAND PG LOW WADI FM
(Part of VSS-SPK-207. 1021002002)

M6 WASHER WIDE A4 BN1684

ﬂ/mmb— M6X16 PH A4UMB BN8699

1 1 VSS-MIC-TOWER-MESH (VSS-MU-SHIELD: 1021002003)

M6 NUT A4 BN629
M6 SPRING WASHER A4 UMB BN673

VSS-MICAMP-SEAL
& O
&
g+ | O »
N ‘ | CIRCUIT BOARD VSS-MICAMP
(Part of VSS-SPK-207. 1021002002)
M6X35 A4 UMB BN613
CABLE GLAND PG16 HIGH FM
- VSS-MICAMP-BOX
12MM DYMO PRODUCT LABEL MGMRK28017
LABEL "FRONT"
2 \ VSS-MIC-TOWER




IMPORTANT NOTE!

Microphone change as described herein shall only be performed in dry weather conditions or indoors.

MESH

screws and washers.

Item | Component Ref. | Qty | Item Description Comments
1 VSS-MIC-TOWER | 1 1 Remove 8 screws and washers around the circumference
MESH and lift the Mic tower mesh gently up and off the
Microphone unit
2 VSS-MICAMP-BOX |5 1 Unscrew 4 bolts in front of Mic amp box and remove the
lidl.
3 VSS-MICAMP 4 4 | Remove 4 copper screws holding PCB
4 V/SS-MICAMP 4 1 Unplug and remove mic amp PCB from the box
5 VSS-MIC-TOWER 2 8 Remove the 8 screws on the top of the microphone unit.
6 VSS-MIC-TOWER |2 8 [Remove washers
7 VSS-MIC-TOWER | 2 1 Take off the top lid from the microphone unit.
8 VSS-MIC-TOWER |2 1 Remove sealing (gasket)
9 VSS-MIC 3 4 | Dismount all four microphones and wires from unit by
holding the microphone in place with a wrench inside
the microphone unit and unscrewing the nut in the
front of the microphone with another wrench. Pull the
microphone cables gently out from the microphone unit
column.
10 | VSS-MIC 3 4 | Mount new microphone spare partsinhousing. Startwith | O-RING (301-920) shall be
microphone 1 infrontdirection (leftin assembly drawing) | placed inside the housing
Mount microphone 2-4 clockwise hereafter. Thread the
0-ring over the front part of the microphone and insert
it from inside the microphone unit and attach and fasten
the nut from outside the microphone unit. Fasten using
two wrenches.
11 | VSS-MIC 3 4 | Insert microphone wires into tower column and enter [ Make sure to put back
the end through the opening in the Mic amp box. excess wires into tower and
push them downwards to
make a loop located lower
than hole to mic amp.
12 | VSS-MICAMP 4 1 Place mic amp PCB back in the box, insert and fasten 4
screws and connect microphone wires.
13 | VSS-MICAMP 4 4 | Mount PCB and connect master panel.
14 | VSS-MICAMP-BOX | 5 1 Place lid to mic amp box and fasten the 4 screws
15 | VSS-MIC-TOWER |2 1 Place mictower seal on top of mic. unit
16 [ VSS-MIC-TOWER |2 1 Place top lid onto mictower sealing and make sure that
they are aligned.
17 | VSS-MIC-TOWER |2 8 | Place washers onto top lid
18 | VSS-MIC-TOWER |2 8 | Mount and fasten top lid Fasten bolts with a torque
force of 3Nm.
19 | VSS-MIC-TOWER- | 1 1 Replace the Mic tower mesh and attach and fasten 8




Photos

DO NOT OPEN
AUTHORIZED PERSOMNr

YEL OrLy. ‘\—\\
B =5

DOC NO DATE

OF

A100K11577 v.2 - customer.service@zenitel.com

Zenitel and its subsidiaries assume no responsibility for any errors that may appear in this publication, or for damages arising from the information therein. STENTOFON and VINGTOR products are developed and marketed by Zenitel. The company’s Quality Assurance System is certified to meet

the requirements in NS-EN ISO 9001. Zenitel reserves the right to modify designs and alter specifications without notice. ZENITEL PROPRIETARY. This document and its supplementing elements, contain Zenitel or third party information which is proprietary and confidential. Any disclosure, copying,
distribution or use is prohibited, if not otherwise explicitly agreed in writing with Zenitel. Any authorized reproduction, in part or in whole, must include this legend. Zenitel — Al rights reserved.

E




